— 1J-1361
= B.Sc. (Part - III)
Term End Examination, 2013
CHEMISTRY
Paper - I
Inorganic Chemuistry
Time : Three Hours] [Maximum Marks : 33 .
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Note : Answer all questions. The figures in the right-

hand margin indicate marks. Write answer of
all parts of same question at one place. Your
answer should be precise and to the point.
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Draw Crystal field splitting diagram for
d-orbitals in octahedral and tetrahedral
field. '
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Write the limitations of crystal field

theory.
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Explain the Irving-Williams order of
stability of complexes.
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(3)
Write short notes on the following :

(/) Trans effect

(if) Chelate effect
FH1 / Unit-11

2. (a)gﬁqﬁﬂgumwaﬁvhﬁﬁzw
o SIS

Describe  Gouy’s method for the
determination of magnetic susceptibility.

Magnetic moment of an ion is 2.83 BM.

Calculate the number of electrons present

in that ion.

)mmﬁmﬁml

Explain Spin Selection Rule.
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(@) lTi(HZm“]})fa'aam FfaT!
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3. (a)

(b)

Fotzd F

Discuss  the clectronic
[Ti(H:O)b]-“ complex 10M-
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osition of d—d transition

Explain the P
Jection Rule.

according to Laport Se
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What is spin only formula ?
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Explain the classification of Organo-
metallic compounds.

W is
hat. is homogeneous  hydrogenation ?
Explain its mechanism : '
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(5)
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fafual fafam) 3
Write the methods of preparation of
organometallic compounds of Tin.
) Frefafaa w @faa froforal faf@w 4
() fafes=a I
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Write shoft notes on the following:
(/) Wilkinson’s Catalyst
@) Ylids
THR / Unit-1V -

4. (a) A qu gErdEE ¥ SRR T
HIC 3
Differentiate between haemoglobin and
myoglobin.
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(6) (7)
Discuss  the mechanism of Sodium/ ' - (a) [GIGEE: %:' agaaﬁ F 7t
Potassium pump- . AR | 3
379q1/ OR Explain the classification of Silicones
polymers.
(@ e T e fein A e wEm

NI 4 ®) AL G 2 B et B
R 3

How biological fixation of Nitrogen takes

place ? What is the theoretical basis of hardness

[ and softness ?

() EETEEE W OGET F oAU w2 1

Describe the structure of Haemoglobin.

TS / Unit-V
5. (q) TEAfEE w €27 TEI I
[qHART 3

What is Symbiosis? Explain its
application.

(b) fafawma = =t fafudi @1 9oiA

FIT | 3
Describe the methods of preparation of
Silicones.
HY9T/ OR
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B.Sc. (Part - III)
Term End Examination, 2018

CHEMISTRY
Paper - I

Organic Chemistry

Time : Three Hours] [Maximum Marks : 33
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Note : Answer all questions. The figures in the right-
hand margin indicate marks.
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1. (o) 9. ° =59 wd-uifas Rl
(i) CH,COONa
(if) (CO0),Ca
(iif) (CH,;CO0),Ph

o

(iv) (C,Hy),Pb

JDB_236_%_(8) (Turn Over)



(2)
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Which of the following is organo-metallic

(a) 9PN UEREA F ARAA FARH  H

compound ? ;
() CH;COONa | RRLLELS 4
(ii) (CO0),Ca Explain the acidic nature of thio-alcohol.
(iif) (CH,C00),Pb (b Ufaer wHierwtaz B frefafaa = oF
(iv) (C,l1),Pb T HE? 3
h < . . P T F =
(b Fafafes 4 4 fas A W fewforgt (i) emgEr FAfehF
ferfan . 2 (ii) TgefiE T
(i) e (iii) 4 Afact 7P Ee
(i) T How will you obtain the following from
cthyl acetoacctate ?
(111) AR 3 K 3 4
! IEUECIE ' (i) Isobutyric acid
Write notes on any two of the following : | | ({i Gluissic geid
(i) Thioether (iif) 4 Methyl uracil
(i) Thiols %13 / Unit-11
3

(1if) Sulphaguanidine 2. (a) w4 R ?

(¢ 1EAL 3 o | NG g '
) W?anfw T 0 & e @ ! ?
TN T 0 o faf, ; (i) GRS B TR A

Write a
note on Keto-e : ‘
cto-cnol tautomerism How will you convert?

of acetoacetic esfer. ,
(/) Glucose into Fructose
/OR 4 (i) Fructose into Glucose
\_ﬂ 7al :
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(4) (5)

¥ : 2 b) Glucose and Fructose having similar
(b) Treafaf@d W ey molecular formula give different product
() DNA . . on reduction.
(i) RNA o (¢) Fructose .reduces Fehling’s solutio.n
Write short notes on the following : although it does not contain aldehydic
) group.
() DNA | |
(i) RNA 5 ¥H1 / Unit-I11
< T ECEIE
(c) WA F # . 3. (o f= 4 8 3 wdmRe 22 2
Explain the classification of protein. 5
‘ () I
37941/ OR
' (i) 2Rt
FRO FHART : (iif) 9o <o Hio
£ EACICE .
(@) e e - fort & . (iv) Weffer
b N “ 2 Which one is polyamide in the following
T € N
polymers ?
(b) TIIS TN G F AL T gl (i) Nylon
bl .’J w4 § e ) (#7) Terelyne
(LR (iii) P. V. C.
(c) Ufeeerfed Te & ave # f paR (iv) Polythene
Fefen faerm #1 gwafm @ §) 3 e .
- 91 Y T ;
Explain Reasons : ) = il .
(a) Glucose and fructose contain different () fred amce
functional groups- still they give the same (if) RRrEH
0sazone.
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Write the preparation mecthod of the
following dyes :

(7)  Crystal Violet

(77) Fluorescein

379aT / OR

Frefefen agem W wftr e fafa ;
(a) etz

(b) ?’x’ 4¢q {

(©) T 7o ageiam

Write short notes on the following -
\ o
(a) Terelyne

(6) Polyviny] Chloride

(c) Free radica] polymerisation

$HTE / Unit-1v

ECoet

10 et Svn vsn d)

(7)
Wwrite  the  applications of I R.
Spectroscopy.
997/ OR
freAfafas w dfw feofml fafae 6
(@) 3@ TFH W
(6) FHER

(c) vifeerdl faears
Write short notes on the following :
(a) Visible spectrum and colour

(b) Chromophore
(¢) Bathochromic Shift

g&1§ / Unit-V
(a) NMRﬁTmsﬁwW?‘“ﬁ
i syEm fewear S ®?

Why TMS is used as a reference

compound in NMR?
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(b)

(8)

Write short notes on the following :
(i) Coupling Constant
(if) Spin spin Spli{tting

394d1 / OR

frafafigg Al & Rl & NMR
xﬁagqaﬁfaﬁwaﬁm;

() THfeesns

(i) e Afde. 3R

(iif) 2TefgA

Discuss any two NMR Spectrum of the
following compounds :

(i) Acetaldehyde

(i) Ethyl methyl ether

(iii) Toluene

faal & faures & o @ g §2
HHART |

What do you mean by splitting of
signals ? Explain.
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